


In the question given below, a sentence 

is given, divided into parts. One of the 

parts may contain an error. Identify the 

part that contains the error, and mark it 

as the answer. Ignore errors of 

punctuation. In case the sentence is 

correct as it is, mark option (e), that is, 

‘No error



In 1928, physician Alexander Fleming 

was in such a rush (A) / to go on 

vacation that he (B) / accidentally left 

a stack of dirty petri dishes in (C) / 

their laboratory sink which resulted in 

a great invention. (D) / No error (E)

1. A

2. B

3. C

4. D

5. E



A spike in the number of infections set 

some alarm (A) / bells ringing in 

March, but none were (B) / loud 

enough to prepare us for (C) the 

devastation we saw barely a month 

latter. (D) / No error (E)

1. A

2. B

3. C

4. D

5. E



Enchantingly beautiful as well as 

superbly managed (A) / by its creator, 

our Planet Earth is (B) /  hanging in 

the cosmos as a part of only (C) / one 

known solar system consisting of 

much planets.(D) / No error (E)

1. A

2. B

3. C

4. D

5. E



Amid this tinderbox of pain, (A) / raging 

and fear, there (B) / are heroes who 

have (C) / risen from among us. (D) / 

No error (E)

1. A

2. B

3. C

4. D

5. E



I have loads of spyware on my devices, 

thanks (A) / to the sites I have visited 

that I deny (B) / visiting, and they 

serve me tiresome (C) / 

advertisements for things I will not 

buy.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



In each of the following questions a 

sentence is given with some part of it 

marked in bold. You have to identify the 

option that would replace the bold part 

and make the sentence contextually and 

grammatically correct. If no correction is 

required, then mark option 'E' as your 

answer.



IB was set up in 1887 through an 

administrative order by a British official 

and today there is no constitutional or 

statutory backing for IB, or even a formal 

charter, apart from a law in 1985 

restricted some of their rights.

1. restricting some of its rights.

2. restricted some of its rights.

3. restricting some of their rights.

4. restricting some of its right.

5. No correction required



Amongst the many groups adverse 

affection by lockdown and extraordinarily 

so were children, particularly girls in rural 

India.

1. adverse affected

2. adversely affected

3. adverse affect

4. adversely affect

5. No correction required



We normally identify ourselves with our 

gross body, the way we look, our gender, 

race, religion and caste while none of 

this identify the soul, which is a spiritual 

being, not a physical thing.

1. while no of this identify

2. while none of this identifies

3. while none of these identifies

4. while none of these identify

5. No correction required



I learnt my lesson the hard way when I 

discovered that one of my accounts had 

been classified as dormant due to 

inactivity and needed some steps to be 

completed in order to revive it.

1. one of my account had been 

classified

2. one of my accounts have been 

classified

3. one of my accounts had been classify

4. one of my accounts had been 

classifying



In each of the questions, a sentence is 

divided into five parts namely A, B, C, D 

and E. In which one of the parts is given 

in bold and is grammatically and 

contextually correct. You have to identify 

which fragment, apart from the bold one, 

is correct in terms of grammar and 

usage.



Persistent attempts to established(A)/the employer-

worker relationship on record (B)/has drawn a blank, 

given that (C)/the mine-owning community is(D)/major 

revenue contributors to the State (E).

1. Persistent attempts to established

2. the employer-worker relationship on record

3. has drawn a blank, given that

4. major revenue contributors to the State

5. All are correct



Many people assumes that (A)/having no 

loans or credit cards (B)/can make it 

easy for him(C)/to avail credit as they do 

not have (D)/any exist credit obligations 

to fulfil (E).

1. Many people assumes that

2. can make it easy for him

3. to avail credit as they do not have

4. any exist credit obligations to fulfil

5. All are correct



In each of the questions given below, four words are 

given in bold. These four words may or may not be in 

their correct position. The sentence is then followed by 

options with the correct combination of words that 

should replace each other in order to make the 

sentence grammatically and contextually correct. Find 

the correct combination of words that replace each 

other. If the sentence is correct as it is, select ‘E’ as 

your option.



President Joe Biden’s sweeping (A) 

vaccine mandates, rampaging (B) at 

improving the U.S.’s odds of beating the 

aimed (C) Delta variant, represent a bold 

move in the face of the ongoing (D) 

pandemic of the unvaccinated.

1. Only A-B

2. Only B-C

3. A-D and B-C

4. A-C and B-D

5. No exchange required



It is clear that this understanding (A), 

along with the four border agreements, 

has now broken (B) down on account of 

China’s actions (C) last year to 

unilaterally (D) re-draw the LAC in 

Ladakh in the Western Sector.

1. Only A-C

2. Only B-C

3. A-B and C-D

4. A-D and B-C

5. No exchange required



The census may be an independent (A) 

exercise, but one that needs adequate 

(B) thought and preparation, if its 

ultimate goal is not for political or 

electoral distribution (C), but for equity in 

purposes (D) of opportunities.

1. Only A-B

2. Only C-D

3. A-C and B-D

4. A-D and B-C

5. No improvement required



Below a word is given followed by three 

sentences which consist of that word. 

Identify the sentence/s which best 

expresses the meaning of the word. 

Choose option 5 (None of these) if the 

word is not suitable in any of the 

sentences.



Yield

A. Increasingly, farm land is yielding to 

property development.

B. Our research has only recently begun to 

yield important results.

C. All you need to do is gently yield the 

water with a finger or paintbrush.

1. Only A

2. Only C

3. Both A and B

4. Both B and C

5. None of these



THANK
YOU


